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1) He pushed the door, but it (O O O ) not open.
2) You (OO O) not call on a person late at night.
3) I suggested that we (O OO ) discuss the plan.

(1)
(2)
(3)
(4) It is necessary that you (O O O) take more exercise.
(5) There (OO O ) be a big pine tree here.

(6)

6) Tom (O O O) often go cycling when he was in school.
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(1) 000000000000 DODOO00
I would (go, at, than, stay, shopping, rather, home).

(2) goboooooboooooooobooa
(may, this, read, he, have, book) already.
(3) go0booooooobooooooon
(like, a, to, you, party, would, come, to)?

(4) gdobobodouobooouobuoooobuobouooooo
(couldn’t, crying, the, she, help, news, at, sad).

(4)
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(1) 000O0O000O0o0o00000
You (O0O0O) not (OO )(ODODO) such a thing.

(2) O00O0O0OODDODODOOODODODODOOOOOOOO
We (00O )OOO)(OOO) lunch under that tree.

(3) 0000000000 DODOO0ODODODOODOO
They (OO0 )(OO0O) be (0DODO) of their bright son.

(4 0000000000000 DODODOOOOD
You (DO0O)(ODOO)(OOO) know the truth.

(5) 000000000000 DODDODODOO
[(000)(OODO)OO0) have a cup of coffee.

(6) D0DODO0OO0O0OOODODODODOO
I (000)O000) be happy (OO 0O) be rich.

(7) 0000000 DODODODO0OODODODOODOOOOOOOO
We (0O 0O O) praise his painting (0 O O ) much.
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1) He pushed the door, but it (O O O ) not open.
2) You (OO O) not call on a person late at night.
3) I suggested that we (O OO ) discuss the plan.

(1)
(2)
(3)
(4) It is necessary that you (O O O) take more exercise.
(5) There (OO O ) be a big pine tree here.

(6)

6) Tom (O O O) often go cycling when he was in school.
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(1) 000000000000 DODOO00
I would (go, at, than, stay, shopping, rather, home).

(2) goboooooboooooooobooa
(may, this, read, he, have, book) already.
(3) go0booooooobooooooon
(like, a, to, you, party, would, come, to)?

(4) gdobobodouobooouobuoooobuobouooooo
(couldn’t, crying, the, she, help, news, at, sad).

(1) | rather stay at home than go shopping

(2) | He may have read this book

(3) | Would you like to come to a party?

(4) | She couldn’t help crying at the sad news.

9 ooooooooOoOOOOO0O0O0O0O00 (00)ooooood

000000000000 @ROx 1)

(1) 000O0O000O0o0o00000
You (O0O0O) not (OO )(ODODO) such a thing.

(2) O00O0O0OODDODODOOODODODODOOOOOOOO
We (00O )OOO)(OOO) lunch under that tree.

(3) 0000000000 DODOO0ODODODOODOO

They (OO0 )(OO0O) be (0DODO) of their bright son.
(4 0000000000000 DODODOOOOD

You (DO0O)(ODOO)(OOO) know the truth.

(5) 000000000000 DODDODODOO
[(000)(OODO)OO0) have a cup of coffee.

(6) D0DODO0OO0O0OOODODODODOO
I (000)O000) be happy (OO 0O) be rich.

(7) 0000000 DODODODO0OODODODOODOOOOOOOO
We (0O 0O O) praise his painting (0 O O ) much.

(1) ought to do
(2) would often have[eat]
(3) may well proud
(4) may as well
(5) would like to

(6) would rather than
(7) cannot too




